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3)PYHKUMSA ¥ = arcsin X HeYeTHas: — = -
arcsin (-x) = - arcsin X;

4)PyHKUMSA Yy = arcsin X MOHOTOHHO BO3pacTaroLlas;




A y=arccos x

1)ObnacTtb onpeaeneHuns: oTpesok [-1; 1];

2)06nacTb 3HaueHuii: otpesok |0, 77]

3)PYHKUMSA Y = arccos X YeTHaq:
arcscos (-x) =7 — arccos x

4)DOYHKLMA Y = arccoSX MOHOTOHHO ybObiBatoLLas;




y=arcigx

1)ObnacTtb onpegeneHuns: R — MHOXXeCTBO OAeNCTBUTESbHbIX YNCEN
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2)Obnactb 3Ha4YeHU: (——,—)
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3)PyHKUMA Yy = arcsin X HeyeTHaq: arctg (-x) = - arctg Xx;

4)PyHKUMA Y = arctg X MOHOTOHHO BO3pacTarLlag;



y=arccigx

1)Obnactb onpeneneHnsa: R -

2)0ObnacTb 3Ha4eHnn: (0, )
3)PyHKUMNSA Yy = arcctgX HM YeTHas HU HeveTHas
arcctg(—x) = w— arcctgx

4)DyHKUMA Yy = arcctgX MOHOTOHHO yb6biBatoLWas;




Ceoucmea apkgynkuui

cos(arccos x) = x, arccos(cosx) = x,x € [— 1;1]
sin(arcsin x) = x, arcsin(sin x) = x, x € |- 1;1]
tg(arctgx) = x arctg(tgx) = x,

ctg(arcctgx) = Xx arcctg(ctgx) = X.
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